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M. A. (Third Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

ECONOMICS 

Paper Third 

(Public Finance) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- MkYVu ds vuqlkj vf/kdre lkekftd ykHk gksrk gS tc % 

¼v½ lhekar lkekftd R;kx = lhekar lkekftd ykHk 

¼c½ lhekar lkekftd R;kx > lhekar lkekftd ykHk 

¼l½ lhekar lkekftd R;kx < lhekar lkekftd ykHk 

¼n½ mi;qZDr esa ls dksbZ ugha  
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According to Dalton social advantages maximises when : 

(a) Marginal social sacrifice = Marginal social benefit 

(b) Marginal social sacrifice > Marginal social benefit 

(c) Marginal social sacrifice < Marginal social benefit 

(d) None of the above  

2- dqy dY;k.k dk fl)kUr lEcfU/kr gS % 

¼v½ ihxw ls 

¼c½ ek’kZy ls 

¼l½ MkYVu ls 

¼n½ fQaMys f’kjkt ls 

Total welfare theory is related with : 

(a) Pigou  

(b) Marshall 

(c) Dalton  

(d) Findle Shiraj  

3- fuEufyf[kr esa ls dkSu&lh yksd foŸk dh fo”k;&oLrq ugha gS \ 

¼v½ lkoZtfud vk; 

¼c½ futh vk; 

¼l½ foŸkh; iz’kklu  

¼n½ mi;qZDr esa ls dksbZ ugha 

Which of the following is not a subject-matter of Public 

Finance ?  

(a) Public Revenue  

(b) Private Revenue  

(c) Financial Administration  

(d) None of the above   
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4- djk?kkr dk vFkZ gS % 

¼v½ dj dk izFke Hkkj 

¼c½ dj dk vafre Hkkj 

¼l½ dj dk dksbZ Hkkj ugha  

¼n½ mi;qZDr esa ls dksbZ ugha 

Meaning of impact of taxation is : 

(a) First burden of tax 

(b) Last burden of tax 

(c) No burden of tax 

(d) None of the above  

5- ,d:irk dk fl)kUr fdl vFkZ’kkL=h us izfrikfnr fd;k \ 

¼v½ dksukMZ ,oa fuŸkh 

¼c½ MkYVu 

¼l½ jkWfcUlu 

¼n½ elxzso 

Which economist propounded the theory of uniformity ?  

(a) Conard and Nitty  

(b) Dalton  

(c) Robinson  

(d) Musgrave  

6- Hkkjr esa th- ,l- Vh- dc ls ykxw dh xbZ \ 

¼v½ 1 twu] 2017 

¼c½ 1 tqykbZ] 2017 

¼l½ 1 vxLr] 2017 

¼n½ 1 flrEcj] 2017 
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In India, GST implemented on : 

(a) 1 June, 2017 

(b) 1 July, 2017 

(c) 1 August, 2017 

(d) 1 September, 2017 

7- fuEufyf[kr esa ls dkSu&lk ljdkj dh xSj&dj vk; dk lk/ku gS \ 

¼v½ vk;dj  

¼c½ migkj dj  

¼l½ Qhl 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which of the following is a source of non-tax revenue of the 

government ? 

(a) Income tax 

(b) Gift Tax 

(c) Fees  

(d) None of the above  

8- Hkkjrh; dj iz.kkyh gS % 

¼v½ izxfr’khy dj iz.kkyh 

¼c½ izfrxkeh dj iz.kkyh 

¼l½ lekuqikfrd dj iz.kkyh 

¼n½ mi;qZDr lHkh  

Indian tax system is a/an : 

(a) Progressive tax system 

(b) Regressive tax system 

(c) Proportional tax system 

(d) All of the above  
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9- lhek ‘kqYd yxk;k tkrk gS %  

¼v½ iw¡th ij 

¼c½ fofu;ksx ij  

¼l½ vk;kr&fu;kZr ij  

¼n½ mi;qZDr lHkh  

Custom duties are levied on : 

(a) Capital  

(b) Investment  

(c) Import-Export  

(d) All of the above  

10- djnku {kerk dk vFkZ gS % 

¼v½ vf/kdre {kerk  

¼c½ de {kerk 

¼l½ cjkcj {kerk 

¼n½ mi;qZDr lHkh 

Meaning of taxable capacity is : 

(a) Maximum capacity 

(b) Low capacity 

(c) Equal capacity 

(d) All of the above  

11- Hkkjr esa vk; dk lcls cM+k lzksr gS % 

¼v½ lsok {ks= 

¼c½ df̀”k {ks=  

¼l½ m|ksx {ks= 

¼n½ mi;qZDr esa ls dksbZ ugha  
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The largest source of income in India is : 

(a) Service sector  

(b) Agriculture sector 

(c) Industry sector 

(d) None of the above  

12- izR;{k dj gS % 

¼v½ vk;dj  

¼c½ fuxe dj  

¼l½ lEifŸk dj  

¼n½ mi;qZDr lHkh  

Direct tax is : 

(a) Income tax 

(b) Corporation tax 

(c) Property tax 

(d) All of the above  

13- tsaMj ctV dk lEcU/k gS % 

¼v½ xzkeh.k fodkl ls  

¼c½ ‘kgjh fodkl ls 

¼l½ efgyk fodkl ls 

¼n½ mi;qZDr esa ls dksbZ ugha  

Gender Budget is concerned with : 

(a) Rural development  

(b) Urban development 

(c) Women development 

(d) None of the above  
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14- migkj dj gS % 

¼v½ vizR;{k dj  

¼c½ izR;{k dj  

¼l½ O;fDrxr dj  

¼n½ mi;qZDr lHkh  

Gift tax is : 

(a) Indirect tax 

(b) Direct tax 

(c) Personal tax 

(d) All of the above  

15- fuEufyf[kr esa ls dkSu&lk vkUrfjd _.k dk lzksr gS \ 

¼v½ vUrjkZ”Vªh; eqnzk dks”k 

¼c½ fo’o cSad 

¼l½ Hkkjrh; fjtoZ cSad 

¼n½ mi;qZDr esa ls dksbZ ugha  

Which of the following is a source of internal debt ? 

(a) International Monetary Fund 

(b) World Bank  

(c) Reserve Bank of India  

(d) None of the above  

16- lnu esa ctV izLrqrhdj.k fdlds }kjk fd;k tkrk gS \ 

¼v½ jk”Vªifr  

¼c½ iz/kkuea=h  

¼l½ foŸk ea=h  

¼n½ mi;qZDr eas ls dksbZ ugha  
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Who presents budget is assembly ? 

(a) By the President  

(b) By the Prime Minister  

(c) By the Finance Minister  

(d) None of the above  

17- mRiknu ‘kqYd yxk;k tkrk gS % 

¼v½ cpr ij  

¼c½ fofu;ksx ij  

¼l½ iw¡th ij  

¼n½ mRiknu fcUnq ij  

Excise duties are levied on : 

(a) Saving  

(b) Investment  

(c) Capital  

(d) Production Point 

18- buesa ls dkSu&lk vizR;{k dj gS \ 

¼v½ fcØh dj  

¼c½ O;; dj  

¼l½ vk;dj  

¼n½ mi;qZDr esa ls dksbZ ugha  

Which one is a indirect tax ?  

(a) Sales tax 

(b) Expenditure tax 

(c) Income tax 

(d) None of the above  
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19- foŸk fo/ks;d lEcfU/kr gS % 

¼v½ vuqPNsn 105 ls 

¼c½ vuqPNsn 107 ls 

¼l½ vuqPNsn 109 ls 

¼n½ vuqPNsn 110 ls 

Finance Bill is related with : 

(a) Article 105 

(b) Article 107 

(c) Article 109 

(d) Article 110 

20- fuEufyf[kr esa ls dkSu&lh djnku {kerk dh eki fof/k gS \ 

¼v½ dqy vk; fof/k  

¼c½ dqy O;; fof/k  

¼l½ dqy _.k fof/k 

¼n½ mi;qZDr esa ls dksbZ ugha  

Which of the following is a method of measuring taxable 

capacity ? 

(a) Aggregate income method  

(b) Aggregate expenditure method  

(c) Aggregate debt method  

(d) None of the above  

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 2&3 okD;ksa esa nhft,A 

 Attempt all questions in 2-3 sentences. 

1- yksd foŸk ls vki D;k le>rs gSa \ 

What do you understand by Public Finance ?  
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2- djk?kkr D;k gS \  

What is Impact of Tax ?  

3- dj foorZu fdls dgrs gSa \ 

What is shifting of tax ?  

4- lkoZtfud O;; ls vki D;k le>rs gSa \ 

What do you understand by Public Expenditure ? 

5- oSV D;k gS \ 

What is VAT ?  

6- mRiknu ‘kqYd dks ifjHkkf”kr dhft,A  

Define production duties. 

7- larqfyr ctV fdls dgrs gSa \ 

What is Balanced Budget ? 

8- yksd _.k ’kks/ku D;k gS \ 

What is redemption of public debt ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt all questions in 75 words. 

1- djk?kkr vkSj djkikr esa D;k vUrj gS \ 

What is difference between impact of tax and incidence of 

tax ? 

2- yksd foŸk ds mís’; crkb,A  

Explain the objectives of public finance. 
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3- iw¡thxr O;; dks le>kb,A  

Explain the capital expenditure. 

4- jktLo O;; dh la{ksi esa ppkZ dhft,A   

Discuss in brief about public expenditure.  

5- izR;{k dj dh dksbZ pkj fo’ks”krk,¡ crkb,A 

Write any four features of direct tax. 

6- ctV ds mís’; dks le>kb,A   

Explain the objectives of budget.  

7- vkmVde ctV dh ppkZ dhft,A 

Discuss the out-cum budget. 

8- vlUrqfyr ctV dks le>kb,A  

Explain the imbalanced budget.  

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 150 ‘kCnksa esa nhft,A 

 Attempt all questions in 150 words. 

1- vf/kdre lkekftd ykHk fl)kUr dh O;k[;k dhft,A  

Explain the principle of maximum social advantage.  

vFkok 

(Or) 

djkjksi.k ls vki D;k le>rs gSa \ buds fl)kUrksa dh O;k[;k dhft,A  

What do you understand by Taxation ? Explain the principle 

of taxation.  
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2- lkoZtfud O;; ds izHkkoksa dh O;k[;k dhft,A  

Explain the effects of Public Expenditure.  

vFkok 

(Or) 

lkoZtfud O;; ds fofHkUu lzksrksa ij izdk’k Mkfy,A  

Throw light on the different sources of public expenditure.  

3- oLrq ,oa lsok dj ij izdk’k Mkfy,A  

Throw light on the Goods and Services Tax (GST). 

vFkok 

(Or) 

djnku {kerk D;k gS \ djnku {kerk ds izdkjksa dks le>kb,A  

What is taxable capacity ? Explain the kinds of taxable 

capacity.  

4- Hkkjr ds lkoZtfud _.kksa ds lzksrksa ij izdk’k Mkfy,A  

Throw light on the sources of public debt of India.  

vFkok 

(Or) 

lkoZtfud _.k ds xq.k ,oa nks”kksa dks le>kb,A  

Explain the merits and demerits of public debt.  
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